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Fifteen/girls went to a mall and each of them was having one purse. They kept their purse at the entry gate in a
rack| The rack was havmg twenty equal sized shelves with four shelves in each of the_five rows. O rse was
allowed to be kept on each shelf and five of them remained vacant. One shelf wz was _vacant in each row(Shelves in
the topmost row v!(irg numbered 1 - 4 in increasing order from left to right. Shelves just below the topm most row
were numbered 5 -8 in decreasing order from right to left. Middle rows was numbered 9 — 12 in decrea rder
om right to left.(Shelves in the lowermost row were numbered 17 -20 in mcreas@er fromm
Shelves just above the lowermost row were numbered 13 to 16 in increasing order from right to left.
Note: Shelf of person P was above/below the shelf of person Q means their shelves were vertically above/below
of each other. Shelf of person P was left/right of the shelf of person Q means their shelves were in the same row.
Sara’s shelf and Sikha’s shelf were even numbered. Eram’s shelf was just above Era’s shelf. Payal’s shelf was
numbered half of Sara’s shelf. @shlka kept her purse to the left of Era s shelf in the middle row. Zara and Farah
kepF’ITew purses below Garima and Deepali respectively. JAll the vacant shelves were vertically in a 1 a line \KEE

shelf was just above Kiran’s shelf and Kiran’s shelf was just above Prachi’s shelf. One vacant shelf _was there
EI; I

between Sara’s shelf and Sikha’s shelf in the same row] Garima kept her purse to the left of Deepali on an even
numbered shelf.@luskan’s shelf was just below Payal’s shelf. mmm? kept her purse just below Sara’s shelf on an

even numbered shelf. ' QE-?*\"’ (
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Q. What is the shelf number of Zara
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A to | were sitting in a row facingisouthl they were wearing cap having different numbers i.e. 34, 36, 40, 18, 27, 25,
22 32 and 13ﬁe distance between consecutive two persons is in consecutive multiple of ‘4m’ from the left end.
The dlita_nce between any adjacent pair is not more th@person wearing cap number 13 was at a
distance ofﬂm from the person wearing cap number 18@5 to the_left of the person who wears;a,p_number
in a multiple of 17.@he distance between D and | was 60 m and neither of them sit at an end. The distance
e nenne!

betweenAg_nd | is double the distance between D and F. Threegerson sit between B and the person wearing a
cap number in a multiple of 11. The person whose cap number was a cube of a number was havmg onhe person
between him and_H, H wears an odd numbered cap. Qn_e_Qi the person who vps_wearlng squared d number cap sits
next to A/ More than three person sit to the left of I. The cap number of D is less than that of C. C does not sit at
an end.[One of the person who was wearing squared numbered cap was sitting immediate right of the person

whose ose cap number was half of his cap humber. The person wearing cgp_number 32 sits to the rlght of C. One who
was wearing cap number 22 sits next to I. A does not sit to the left of D. @
Now, rearrangement L\ggp_ens based on the below given condition : % /2
If a person’s _cip_number and his/her position, both are odd then he/she exchanges his/her position wi son
sitting to his/her immediate right. Positions are given 1 to 9 from the left end.
J— — e — — =
@ What is the sum_gfthe cap numbers onthe ones who are sitting immediate left of E and H respectlvely before

rearrangement? @
Q. How many persons sit between C and H after rearrangement ?
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@ertain number of persons are sitting around the_circular table facing the center.[s\/ome of them like
different colours i.e. pink, red and yellow.(Three person sit between M and N, who likes pink, one
person sit between D and O. Immediate neighbours of P do not like red. At most two person sit
between P and C._uggd_A like same colour. P does not like pink. P and Z like different colour. One
person sit between A and D. Two person sit bétween P and N.-C and P like same colour. C sits next to N.
D, C and P like same colour. A sits next to Z, who likes red. P sits third to the left of Z. Two person sit
‘between D and M, who likes red. Number of person sit between C and D is same when counted from
either side of C. -
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